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FOREWORD 

The report on the Candidates Item Response Analysis (CIRA) for the 2020 

Advanced Certificate of Secondary Education Examination (ACSEE) for the 

Geography subject has been prepared by the National Examinations Council of 

Tanzania (NECTA). The aim of this report is to provide feedback to different 

education stakeholders including students, teachers, parents, policy makers and the 

general public on the performance of candidates and the extent to which the 

instructional goals and objectives were met. 

The ACSEE marks the end of the two years of the advanced level of secondary 

education. It is a summative evaluation that shows the general effectiveness of the 

education system. Principally, candidates’ responses to the examination questions 

indicate what the education system was able/unable to offer to the students in the 

two years of the Advanced Certificate of Secondary Education. 

In this report, the analysis of each question has been done and some statistical data 

has been presented in figures and graphs. Factors that have contributed to the 

candidates’ ability to answer the examination questions correctly and score high 

marks include: the ability to understand the demands of the questions, having basic 

knowledge of the subject matter, possessing skills in computing and drawing, good 

mastery of the English language and essay writing skills. The candidates who 

scored low marks depicted contrary attributes. 

It is the belief of the National Examinations Council of Tanzania that, this report 

shall serve as a basis for enabling all educational stakeholders, including; 

education administrators, school managers, teachers and students, to identify 

proper measures to take in order to improve candidates’ performance in future 

examinations administered by the Council. 

Finally, the National Examinations Council of Tanzania is grateful to all 

Examination Officers and other stakeholders who provided valuable assistance in 

the preparation of this report.  

                                                                      
 

 

Dr. Charles E. Msonde 

EXECUTIVE SECRETARY
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1.0 INTRODUCTION 

The 2020 Advanced Certificate of Secondary Education Examination 

(ACSEE) in Geography subject covered the 2010 syllabus and adhered to the 

2019 Examination Format (Revised version). The examination consisted of 

two papers; 113/1 Geography 1 and 113/2 Geography 2. 

Paper one consisted of two sections; A and B. The candidates were required to 

attempt five questions. Section A had three questions from the following 

topics: Topographic Map Interpretation, Field research Strategies, Simple 

Survey and Map Making. The candidates were required to attempt two 

questions from this section. Question number 1 was compulsory. Section B 

had four questions which were set from the following topics: Space Dynamics, 

Position Behaviour and Structure of the Earth, Water Masses and The Study of 

Soils. The candidates were required to attempt any three questions from this 

section. 

Paper Two consisted of seven questions from the following topics: Population 

and Development, Environmental Friendly Tourism, Manufacturing 

Industries, Transport and Communication, Sustainable Use of Fuel and Power, 

Sustainable Mining. The candidates were required to attempt a total of five 

questions.  Question number one was compulsory. 

This report analyses the 2020 performance of the school candidates who sat 

for the ACSEE in Geography subject. In the analysis, the performance in each 

topic is ranked as weak, average and good if the percentage of candidates’ 

scores lies in the range of 0 to 34, 35 to 59 and 60 to 100 respectively.  

A total of 44,269 candidates sat for the ACSEE 2020 in the Geography 

subject, out of which, 43,942 candidates (99.72%) passed while, 123 (0.28%) 

failed. Generally, the performance in 2020 improved by 0.2 percent compared 

to that of 2019, in which, 99.52 percent of the candidates passed and 0.48 

percent failed.  

This report provides an analysis on the performance of the candidates in each 

question by showing what the candidates were required to do as well as the 

strengths and weakness of their responses. Samples of the candidates’ answers 

are shown to illustrate their responses. It is expected that the report will be 

useful to all educational stakeholders and will enable teachers and students to 

improve the teaching and learning process in the Geography subject. 
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANE IN EACH 

QUESTION 

The Advanced Certificate of Secondary Education Examination (ACSEE) in 

Geography subject is designed to test candidates’ ability to grasp and apply 

knowledge in various situations. It also tests the ability to demonstrate, 

analyse, reason and interpret various Geographical phenomena such as: 

physical features, research strategies, survey, map work and draw conclusions 

from observations and interpretations.  

2.1 113/1 GEOGRAPHY PAPER ONE 

SECTION A: Topographic Map Interpretation, Field Research Strategies, 

Simple Survey and Map Making 

2.1.1 Question 1: Topographic Map Interpretation 

The candidates were required to carefully study the map extract of Kimamba 

(sheet 182/3) provided and then answer the questions that followed. The 

question consisted of six parts; (a), (b), (c), (d), (e ) and (f). The total marks 

allocated for this question were 25. 

The candidates were required to (a) calculate the area covered by the Sisal 

Estate in squares kilometres, (b) suggest the type of climate of the area with 

concrete reasons, (c) find forward and back bearing of Mbwende grid 

reference 880395 to Tindiga school grid reference 910405, (d) explain three 

factors which have influenced population distribution in the area, (e) describe 

the type of drainage patterns shown on the map and (f) identify part of the map 

which is covered by highlands and then give two reasons for their 

identification. 

The question was compulsory therefore; it was attempted by all candidates 

(100%) whereby 9.7 percent scored from 15 to 25 marks, 53.5 percent scored 

from 9 to 14.5 marks and 36.8 percent scored from 0 to 8.5 marks. The general 

performance in this question was average since 54.2 percent of the candidates 

scored 9 marks and above.  Figure 1 illustrates candidates’ performance in this 

question. 
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Figure 1: Candidates’ Performance in Question 1 

The candidates who scored from 15 to 25 marks were competent in 

Topographical Map Interpretation. In part (a), the candidates were able to 

calculate the area covered by the Sisal Estate in square kilometres. They were 

also able to follow the procedure and apply correct formula in determining the 

area whereby in the first step they counted the total number of squares. 

Complete squares were 11, incomplete squares were 36/2 = 18, therefore, the 

total number of squares were 29. In the second step they calculated the area of 

one (1) square, the length of each side of the square was 2cm, and the map 

scale was 1:50000, therefore, the area of 1 square is equal to side x side = 

side
2
. This implies that the area of 1 square is equal to 1 km x 1 km = 1km

2
. 

Finally they calculated the area of Sisal Estate as 29 x 1 km
2
 = 29 km

2
. 

In part (b), most of the candidates managed to suggest the type of climate as 

Tropical climate and the reasons for their suggestions were: presence of 

vegetation, scattered trees and woodlands in the area like Kindago, presence 

of water bodies like seasonal swamp in the eastern part of the map, rivers 

suggest wet conditions like Miyombo and Kidogo and crops like sisal which 

suggest moderate rainfall. Some of the candidates in this category were able 

to mention the correct type of climate but they mixed the correct and incorrect 

reasons in their suggestions leading to variation in their scores. 

In part (c), some of the candidates identified the forward bearing of Mbwende 

grid reference 880395 to Tindiga school grid reference 910405 as 71
0
 or 72

0
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and back bearing of Mbwende grid reference 880395 to Tindiga school grid 

reference 910405 as 251
0 

or 252
0
. Others were able to find the correct forward 

bearing of Mbwende on the given grid references but failed to find the back 

bearing. 

In part (d), majority of the candidates managed to explain three factors which 

have influenced population distribution in the area as the population in the 

area is not evenly (uneven) distributed due to the following factors:  

Presence of transport network such as railway and trucks on the 

western part of the map has influence people to live along the railway 

line; presence of sisal estate and factory which has attracted people to 

live around the factory as it  is seen in the eastern and western part of 

the map for example Kivungi town ship; vegetation distribution such 

as woodland which is found almost all over the map; relief people are 

settled in the areas that are flat and avoid settling in highland areas and 

finally water bodies and drainage affect people’s  settlement as 

presence of water bodies attracts people to settle.  

In part (e), they identified and described the correct drainage patterns shown 

on the map as dendritic and trellis. They described  

The presence of dendritic drainage pattern which was evidenced by 

the tributaries joining the main river at an acute angle for instance at 

grid reference 892374 where there is Kidogo river. Presence of trellis 

drainage pattern was evidenced by the tributaries which join the main 

river at nearly a right angle at grid reference 802314. 

Some of the candidates explained the presence of centripetal drainage pattern 

around grid reference 845385, where river streams flow towards the seasonal 

swamp. On the other hand, some candidates explained only one drainage 

pattern. 

In part (f), the candidates managed to identify the part of the map which is 

covered by highlands giving three reasons: the Western part of the map 

because; one, closeness of the contours, two the direction of the rivers which 

seems to flow from the western part and three the presence of hills in the 

western part of the map marked by hill picks/tops for example at grid 

reference 795305. Some of the candidates in this category managed to give the 

direction of the map covered by highlands without giving any reason which 

rendered variations in their scores. Extract 1.1 represents a part of such a good 

response. 
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Extract 1.1: A sample of a correct response to question 1 

The candidates who scored from 9 to 14.5 marks had some good and weak 

responses in responding to this question. In part (a), some candidates managed 

to identify the correct number of complete squares and failed to identify 

incomplete squares, therefore they failed to calculate the area covered by the 

Sisal Estate. Others were able to identify the correct number of complete 

squares and incomplete squares but failed to calculate areas by using the scale 

provided on the map. One candidate for example wrote correct complete 

squares which is 11 and incomplete squares as 34 instead of 36. This led 

him/her to get the wrong area of the Sisal Estate. This shows that some 

candidates had insufficient knowledge and skills on the mathematical 

operation of counting the number of squares in the given map. 

In part (b), some of the candidates were able to identify the type of climate 

without explaining the reasons for their identification while, others did not 

mention the type of climate correctly but they tried to explain the reasons 

partially. One candidate for example wrote Equatorial climate instead of 

Tropical climate and gave the reasons as: presence of forest, water bodies and 

agricultural activities such as sisal production. This shows that the candidate 

was attracted by the presence of woodland, seasonal swamps and the sisal 

estate on the map provided.  

In part (c), some of the candidates were able to find forward bearing of 

Mbwende grid reference 880395 to Tindiga school grid reference 910405 but 

failed to find back bearing while others failed to find both forward and back 

bearing. One candidate for example wrote the forward bearing as 20
0
 instead 

of 71
0
 or 72

0
 and back bearing as 200

0
 instead of 251

0
 or 252

0
. This indicates 

that the candidate had limited skills of calculating bearing of objects or 

features by using a magnetic compass when identifying the position. 
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In part (d), some of the candidates managed to explain three factors which 

have influenced population distribution in the area. Some mentioned few 

factors while others mixed correct and incorrect responses. One candidate for 

example wrote relief which was a correct answer and incorrect answers were 

types of drainage, scrubs and woodland. Another candidate mixed correct and 

incorrect answers such as unemployment, climate and soil. This indicates that 

these candidates were not well informed on how to identify and interpret 

natural/ artificial feature on the map. 

In part (e), some of the candidates managed to describe the drainage pattern 

shown on the map, some mentioned the type of drainage pattern without 

giving details while others mixed relevant and irrelevant answers like 

dendritic, centripetal and radial drainage patterns while the correct answers 

were dendritic and trellis drainage patterns.   

In part (f), some candidates were able to identify direction on the map covered 

by highlands and gave unsatisfactory reasons while others failed to provide 

direction but presented the correct reasons. One candidate for instance wrote 

Eastern side and gave correct reasons as it consists of contour lines which are 

close together compared to the other side of the map. 

The candidates who scored from 0 to 8.5 marks misconceived some parts of 

this question as they provided incorrect responses. In part (a), for example 

some candidates were able to identify the number of complete and incomplete 

squares but failed to calculate the area of the Sisal Estate. Some candidates 

managed to identify complete squares but failed to identify incomplete squares 

while, others were not able to identify complete and incomplete squares. One 

candidate for example wrote complete squares as 12 and incomplete squares 

32 as a result he/she ended up calculating the wrong area. This candidate 

showed lack of identification skills of determining area on the map.  

In part (b), most of the candidates in this category failed completely to suggest 

the type of climate of the area due to absence of degrees of latitudes on the 

map. Some mixed correct and incorrect type of climate. One candidate for 

example wrote Equatorial climate and gave reasons as; latitude, type of crop 

and presence of water bodies. The candidate showed lack of understanding of 

map interpretation skills. 

In part (c), most of the candidates who performed poorly were not able to 

measure forward and back bearing of Mbwende grid reference 880395 to 

Tindiga school grid reference 910405. One candidate for example wrote 
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incorrect forward bearing as 134
0
 and back bearing 44

0
. This showed that the 

candidate had insufficient skills of identifying grid references and identifying 

positions by using compass bearings. 

In part (d), most of the candidates were not able to write correct factors which 

influence population distribution in the area, one candidate for example wrote 

presence of dispensary, school and camp. This candidate failed to interpret 

natural and artificial features affecting population distribution on the map. 

In part (e), some candidates managed to describe drainage patterns shown in 

the map while, other candidates mentioned without providing evidence and 

others were not able to. One candidate for example wrote types of settlement 

such as nuclear, linear and scattered pattern instead of drainage patterns such 

as dendritic, centripetal and radial. The candidate was confused by the word 

pattern and that is why they mixed the two concepts settlement pattern and 

drainage pattern. 

In part (f), some candidates failed to identify the direction of the area covered 

by highlands. Some identified correctly the direction but gave no evidence 

while other candidates provided irrelevant reasons. One candidate for example 

wrote Northern part because the area has many contour lines compared to 

other parts. Therefore, poor responses to some parts of these questions led the 

candidates to score low marks.  Extract 1.2 represents a sample of a poor 

response. 
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Extract 1.2: A sample of a part of a poor response to question 1 

In extract 1.2 the candidate provided correct answers in part (d) and incorrect 

responses in other parts of question 1. He/She failed to count full and half 

squares which led to the wrong answer of area of the sisal estate. He/she also 

was not able to measure correctly the forward and back bearings. 
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2.1.2 Question 2: Field Research Strategies 

The question had two parts (a) and (b). In part (a), the candidates were 

required to describe four types of sampling techniques. In part (b), the 

candidates were required to outline four importance of sampling. The total 

marks allocated for this question were 15. 

This question was opted by 77 percent of the candidates whereby 9.3 percent 

scored from 9 to 15 marks, 25.2 percent scored from 5.5 to 8.5 marks and 65.5 

percent scored from 0 to 5 marks. The general performance in this question 

was poor since 34.5 percent of the candidates who attempted it scored 9 marks 

and above. Figure 2 illustrates performance in this question. 

 

Figure 2: Candidates’ Performance in Question 2 

Most of the candidates who scored from 10 to 15 marks were able to answer 

the question correctly which reveals that these candidates were knowledgeable 

and skilful in research methods. In part (a), for example some candidates were 

able to describe the four types of sampling techniques such as; simple random 

sampling, systematic sampling, strategies sampling and cluster sampling 

providing correct description. Some managed to provide the correct types of 

sampling techniques but with unsatisfactory explanations while others 

provided few types of sampling techniques. 
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In part (b), they succeeded to outline four importance of sampling such as; it 

saves time as few respondents are used, it is less expensive than a census 

which covers a large population, it avoids repetition, sampling remains the 

only choice when a test involves the destruction of the item under study. Some 

of the candidates identified three instead of four importance of sampling while 

others managed to identify four importance of sampling but provided incorrect 

explanations. Therefore their scores varied due to strengths and weaknesses of 

their responses. Extract 2.1 is a sample of a good response. 
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Extract 2.1: A sample of a correct answer to question 2 

The candidates who scored from 6 to 9 marks were not able to attempt the 

question correctly as they provided incorrect responses. In part (a), some of 
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these candidates were able to define sampling technique and explain four 

types of sampling techniques unsatisfactorily while, others explained few 

types of sampling techniques. One candidate for example mixed correct and 

incorrect types of sampling techniques such as simple random, systematic and 

applied sampling.  

In part (b), some of these candidates were able to mention few importance of 

sampling while others mixed correct and incorrect answers. One candidate for 

example wrote; it helps to get information, some samplings are cheap, does 

not need high skills in collecting information and it saves time. Therefore, this 

shows that this candidate had inadequate knowledge and skills on Field 

Research Strategies particularly on the types of sampling techniques. Hence, 

candidates’ marks varied according to variations in their responses. 

The candidates who scored from 0 to 5 marks attempted some parts of the 

question incorrectly as they had little knowledge or none at all in this topic. 

Most of these candidates failed in part (a), that required the candidates to 

define sampling but mentioned few types of sampling techniques. In part (b), 

some of them managed to outline few importance of sampling while others 

failed to respond to any part. One candidate for instance failed to interpret the 

importance of sampling and gave responses such as; sampling gives an 

experience to a researcher about a particular problem, sampling enabling 

accurate formulation of policy. Another candidate mentioned the methods of 

collecting data instead of types of sampling such as; interview technique, 

questionnaire technique, observation technique and focal group discussion. 

This candidate lacked knowledge and skills on the research technical terms.  
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Extract 2.2:  A sample of a part of an incorrect response to question 2  

In extract 2.2 a candidate wrote in part (a) data collection tools such as 

questionnaire, interview, focus group discussions and observation instead of 

sampling techniques; in part (b) the candidate wrote the importance of 

research. 
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2.1.3 Question 3: Simple Survey and Map Making 

The question required the candidates to clearly show the equipment used in 

plane table survey and explain the procedures of conducting plane table  

survey successfully. The total marks allocated to this question were 15. 

This question was attempted by only 20 percent of all the candidates who 

registered for this subject. Most of the candidates did not attempt the question. 

The general performance in this question was poor as it was only 19.7 percent 

of the candidates who attempted the question scored 5.5 marks and above. 

Further analysis of the data shows that very few candidates 1.4 percent scored 

from 9 to 15 marks, 18.3 percent scored from 5.5 to 8.5 marks, and the 

majority, that is 80.3 percent scored from 0 to 5 marks.  

The candidates who scored from 10 to 15 marks managed to answer the 

question according to its demand. The responses provided by these candidates 

showed that they were competent on survey and map making especially on the 

procedures for carrying out Plane Table Survey. They were able to show the 

equipments used in Plane Table Survey such as; the Plane Table, Alidade, the 

Plumb bob, The Trough Compass, Spirit Level, Tripod Stand, Chain/Tape, 

Plain Paper, Notebook and Pencil. Most of these candidates supported their 

answers with correct diagrams. 

Moreover, most of the candidates in this category provided correct procedures 

of conducting Plane Table Survey such as; 

Set up the table at A and mark position A on the paper so that other 

stations can be fitted into the paper, mark in Magnetic North with the 

Trough Compass, Sight along line A to Ranging pole at B and draw a 

pencil line, measure the length of A and B and mark a point on the 

pencil line B to scale, set up the Plane table at B, sight along B – C 

and draw the corresponding line on the paper, measure length to C 

and mark C on the BC line to scale and repeat the process until the 

traverse is complete.  

Their marks varied depending on the quality of their responses. Extract 3.1 

represents a sample of a correct response. 
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Extract 3.1: A sample of a correct answer to question 3 

The candidates who scored from 5.5 to 8.5 marks partially addressed the 

demand of the question. Some candidates were able to name and draw the 

equipment used in plane table survey but they were not able to explain them 

well. Others managed to show the relevant equipment used in Plane Table 

Survey but they were not able to show the correct procedures used in plane 

table survey. One candidate for example managed to name, draw and explain 

equipment used in conducting a plane table survey as chain, tripod stand, the 

plane table, alidade and plumb bob but failed to explain the procedures to be 
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followed in conducting a plane table survey which indicates partial knowledge 

and skills in the procedures of conducting Plane Table Survey. Therefore, the 

variation in their scores was caused by strengths and weaknesses of their 

answers. 

The candidates who scored from 0 to 5 marks provided incorrect responses. 

Some candidates for example failed to define Plane Table Survey but were 

able to mention few equipment used in the Plane Table Survey.  They were 

also not able to show the correct procedures to be followed in conducting 

Plane Table Survey. Some candidates finished by mentioning equipments used 

in Plane table Survey partially without explaining their procedures. One 

candidate for example mixed correct and incorrect equipment such as plane 

table, alidade, compass and pegs. The candidate mentioned reconnaissance, 

hypothesis, experiment and recording as procedures. Another candidate 

mentioned correct equipment such as plane table, chain, tripod stand and 

writing material such as note book, pencil and paper, but also wrote; it 

provide data , provides alternative solution, tests hypothesis and used in data 

analysis as procedures of conducting plane table survey.  Extract 3.2 is a 

sample of a poor response. 
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Extract 3.2 A sample of an incorrect response to question 3 

In extract 3.2 a candidate mixed the procedures of conducting chain survey 

such as reconnaissance and preparing equipments with the stages of 

conducting research such as data collection, data analysis and data 

presentation instead of the procedures of conducting plane table survey. 
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SECTION B: PHYSICAL GEOGRAPHY 

 

2.1.4 Question 4: Space Dynamics 

This question instructed the candidates in eight points to explain how climate 

determine human settlements and economic activities with a support of 

examples. The total marks allocated for this question were 20.  

The question was attempted by 47.8 percent of all the candidates, of whom 

23.5 percent scored from 12 to 20 marks, 42.6 percent scored from 7 to 11.5 

marks and 33.9 percent scored from 0 to 6.5 marks. The general performance 

in this question was good since 66.1 percent of the candidates who attempted 

this question scored 7 marks and above. Figure 3 illustrates the performance in 

this question. 

 

Figure 3: Candidates’ Performance in Question 4 

The candidates who scored from 12 to 20 marks had adequate knowledge on 

the subject matter asked. In their responses they managed to explain how 

climate determines human settlement in the following ways;  

Climate determines the type of settlement pattern to be either 

nucleated or scattered since people tend to settle in areas with good 

climatic conditions such as enough rainfall, warm or cool conditions; 

climate influences the style of buildings for example in areas with 

heavy rainfall, the roof  of the houses will be sloppy and in arid areas 

roofs of the houses can be smooth since there is no problem of 
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leaking of roofs due to scanty rains; climate can determine 

prevalence of diseases because areas with high cases of diseases like 

Malaria and Cholera will discourage settlement as people prefer to 

settle in areas with absence of diseases; climate determines the 

development of soil because areas with fertile soil encourage more 

people to settle to carry out different economic activities and finally, 

climate determines environmental disasters like floods, erosion 

which causes disturbances to people hence people avoid settling in 

them areas which are prone to disasters.  

The candidates in this category managed also to explain how climate 

determines human activities in the following ways;  

Climate influences agricultural activities especially in areas with 

enough rainfall and allow  growth of crops which need enough 

rainfall; climate determines industrial location because the areas with 

heavy rainfall discourage transport and communication hence 

discourage industrial development; climate influences transportation 

systems both positively and negatively because areas which have low 

rainfall, road transport is efficient while water transport tends to be 

poor; climate influences tourism activities and fishing activities.  

Variation of their marks was influenced by the strengths and weaknesses of 

arguments provided by individual candidates.  

The candidates who scored from 7 to 11.5 marks did not have enough 

knowledge and skills on how climate influences human settlement and 

economic activities. Some of the candidates in this category provided a 

relevant introduction but gave unsatisfactory explanations on how climate 

determines human settlement and economic activities. Some provided a 

relevant introduction but failed to give detailed explanation, some mixed 

correct and incorrect explanations on how climate determines human 

settlement and economic activities while, others provided an irrelevant 

introduction and wrote correct points with incorrect explanations. One 

candidate for example, included the types of climate such as savannah, warm, 

polar, marine, equatorial, tropical, arid and Mediterranean climate in the 

explanations instead of explaining the influence of climate to human 

settlements and economic activities. Therefore, strengths and weaknesses of 

their explanations led to variation in their scores. 

Similarly, the candidates who scored from 0 to 6.5 marks had little or no 

knowledge on the influence of climate to human settlements and economic 

activities. Some of the candidates in this category were able to provide the  

correct influence of climate on economic activities but were not able to 
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explain how climate influences settlements. Some of them gave insufficient 

explanations on the influence of climate on both settlement and economic 

activities while, others were not able to explain the influence of climate on 

both human settlements and economic activities. One candidate for example 

provided a relevant introduction, included elements and factors affecting 

climate such as precipitation, temperature, wind, humidity, relief, biological, 

soil and cultural factors in explanations instead of explaining the influence of 

climate.  

Another candidate wrote factors influencing weather and climate such as relief 

of the area, distance of the earth, latitude position, altitude, ocean currents, 

atmosphere absorption and prevailing winds instead of explaining the 

influence of climate. Extract 4.1 represents a poor performance in question 4.  
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Extract 4.1: A sample of an incorrect response to question 4 

In extract 4.1 the candidate explained the factors which influence climate 

instead of explaining how climate influences human settlements and economic 

activities. 

2.1.5 Question 5: Position, Behaviour and Structure of the Earth 

The question required the candidates to justify the statement that, the earth is 

said to be spherical in nature by using six points. The total marks allocated for 

this question were 20.  
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The questions was attempted by 97.4 percent of all the candidates, of whom 

68.4 percent scored from 12 to 20 marks, 27.9 percent scored from 7 to 11.5 

marks and only few candidates (3.7%) scored from 0 to 6.5 marks. The 

general performance in this question was good since 96.3 percent of the 

candidates scored 7 marks and above. Figure 4 illustrates the performance in 

this question. 

 
Figure 4: Candidates’ Performance in Question 5 

The candidates who scored from 12 to 20 marks had adequate knowledge on 

the topic of Position, Behaviour and Structure of the Earth specifically on the 

shape of the earth. Some of the candidates in this category gave a relevant 

introduction on the shape of the earth and they provided six evidences to prove 

that the earth is spherical in shape such as; aerial photograph, the lunar 

eclipse (moon eclipse), circumnavigation of the earth, sunrise and sunset, the 

earth’s curved horizon and ship visibility. They supported their answers with 

correct diagrams.  

Some of the candidates managed to provide correct evidences which prove 

that the earth is spherical in shape but failed to use diagrams in some points. 

Other candidates provided the evidences to prove the sphericity of the earth 

but gave unsatisfactory explanations in some points while, others explained 

few evidences contrary to the demand of the question. Extract 5.1 is a sample 

of a correct response. 
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Extract 5.1: A sample of a correct response to question 5 

The candidates who scored from 7 to 11.5 marks did not have adequate 

knowledge and skills on the shape of the planet earth particularly on the 

characteristics of the earth’s crust. Most of these candidates for instance 

managed to provide relevant introduction about the planet Earth but provided 

unsatisfactory evidences that prove the sphericity of the earth with well 

labelled diagrams. 

Furthermore, some candidates inadequately explained the evidences that prove 

the spherical shape of the earth while, other candidates mixed correct and 

incorrect explanations without drawing diagrams. Some failed to provide a 
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relevant introduction and mentioned a few evidences with adequate 

explanations and did not use diagrams. The strengths and weaknesses of their 

responses led to the variations of their marks. 

The candidates who scored from 0 to 6.5 marks had little or no knowledge and 

skills on the concept of the shape of the Earth. Some candidates in this 

category were able to provide a relevant introduction about the shape of the 

earth but were not able to explain correctly the evidences that prove the earth 

is spherical in shape. They also provided an irrelevant conclusion.  

Some of the candidates were able to give a correct introduction with a few 

evidences to show the shape of the earth but gave unsatisfactory explanations. 

Others were not able to provide a correct introduction and correct evidence 

that prove that the earth is spherical in shape. One candidate for example, 

wrote incorrect evidences such as; polar diameter, polar circumference, 

gravitational pull at the pole region and difference in latitude. Another 

candidate defined the nature of the earth in terms of how the earth is appearing 

and everything in the earth. This candidate mentioned; linear eclipse, day and 

night, occurrence of photograph, Bedford experiment, spherical horizon and 

ship visibility. The variation in their marks was a result of the varied 

weaknesses in their responses. Extract 5.2 is a sample of an incorrect response. 
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Extract 5.2: A sample of an incorrect response to question 5  

In extract 5.2 the candidate explained different land forms found on the earth’s 

surface such as high land, lowland, mountains, rift valleys, plateaus and 

islands as evidences for sphericity of the earth.  
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2.1.6 Question 6: Water Masses 

The question required the candidates to classify six types of lakes according to 

their mode of formation using relevant examples. The total marks allocated for 

this question were 20.  

This question was attempted by a large number of students;  81.3 percent of all 

the candidates who were registered for this subject. The general performance 

in this question was good as 95.8 percent of the candidates who attempted it 

scored 7 marks and above. Further analysis shows that, 54.8 percent of the 

candidates scored from 12 to 20 marks, 41 percent scored from 7 to 11.5 

marks and only 4.2 percent scored from 0 to 6.5 marks. Figure 5 illustrates the 

performance in this question.  

 
Figure 5: Candidates’ Performance in Question 6 

The candidates who scored from 12 to 20 marks had a good knowledge and 

skills on classification of lakes according to their mode of formation. One 

candidate for example identified six types of lakes according to their mode of 

formation as;  

Lakes formed due to earth movements (Rift valley lakes, Down 

warping lakes); lakes formed due to volcanic activities, (Crater and 

Caldera lakes like the Caldera e.g. Shala in Ethiopia); lakes formed 

due to erosion like the Glacial lakes i.e. Tana lake in Kenya, Rock 

basin lake; trough lakes formed due to deposition like the Kettle 

lakes, Moraines lakes, the Flood plain lakes; Man-made lakes; 

Solution lakes and the Vegetation dammed lakes. 
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They were also able to provide a relevant introduction and conclusion. Some 

of the candidates in this category provided an irrelevant introduction, 

explained correctly the types of lakes formed but did not provide a relevant 

conclusion. Others classified few types of lakes with satisfactory explanation. 

Variation of their marks was due to strengths and weaknesses in their 

responses. Extract 6.1 is a sample of correct response.  
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Extract 6.1: A sample of the correct response to question 6 
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Most of the candidates who scored from 7 to 11.5 marks had inadequate 

knowledge on inland drainage thus they provided an unsatisfactory 

introduction on lakes and mentioned the types of lakes with inadequate 

explanation. Most of the candidates in this category provided correct types of 

lakes without giving a detailed explanation while, others provided few types of 

lakes but mixed up correct and incorrect explanations. One candidate for 

example mixed the correct and incorrect types of lakes as oxbow lake, glacial 

lake, estuarine lake, fluvial lake, volcanic lake and Depression Lake. This 

implies that the candidate had general knowledge on the topic of water masses 

specifically on types of lakes according to their mode of formation. 

The candidates who scored from 0 to 6.5 marks were able to provide a 

relevant introduction of lakes but did not manage to explain any type of lakes  

according to their mode of formation. Some of them gave an irrelevant 

introduction, explained only few types of lakes with insufficient explanations 

and without examples. Others gave an irrelevant introduction of lakes, and 

mentioned types of lakes according to their mode of formation without 

elaborations. Variation of their scores depended on the strengths and 

weaknesses of their responses. Extract 6.2 is a sample of poor responses. 
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Extract 6.2: A sample of an incorrect response to question 6  

In extract 6.2 the candidate associated the concept of types of rivers such as 

ephemeral, intermittent and perennial with types of lakes according to their 

mode of formation. 

2.1.7 Question 7: Study of Soils 

The question instructed the candidates to explain how parent rocks, climate 

and living organisms influence soil formation by giving three points for each. 

The total marks allocated for this question were 20.  

This question was attempted by 72.7 percent of all the candidates who 

registered for this subject. The general performance in this question was good 

as 84.8 percent of the candidates who attempted it scored 7 marks and above. 
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Further data analysis shows that, 40.1 percent of the candidates scored from 12 

to 20 marks, 44.7 percent scored from 7 to 11.5 marks and 15.2 percent scored 

from 0 to 6.5 marks. Figure 6 illustrates the performance in this question. 

 

Figure 6: Candidates’ Performance in Question 7 

The candidates who scored from 12 to 20 marks were able to explain how the 

parent rock, climate and living organisms influences soil formation by giving 

three points for each. One candidate for example, defined soil formation as; 

the development of soil from the parent rock materials under the interaction of 

other several factors which include climate, living organisms, topography and 

time. The candidate explained the influence of the parent rock, climate and 

living organisms in soil formation as follows:  

The influences of parent rock materials on soil formation are;  

Parent rock materials are the rocks from which soil has developed 

and it is the source of inorganic materials of the soil component, 

parent rocks determine the rate of weathering in the process of soil 

formation and parent rocks determine the texture of the resultant 

soils. 

The influences of climate on soil formation are as follows;  

Rainfall provides moisture required for chemical weathering which 

leads to soil formation, rainfall affects the rate at which some soil 

forming process such as leaching can occur, high temperature 



44 

increases the rate of weathering i.e. exfoliation and climate influence 

the process and rate of erosion by water. 

The influences of living organisms on soil formation are like:  

Living organisms assist in breaking down of rocks through 

furrowing, ploughing and plant root penetration, they influence the 

chemical composition of soil by adding or removing organic acid 

which facilitate soil formation, plants and animals matter decay 

influence development of soil profile by the amount of humus or 

minerals which improve soil fertility and human beings influence 

rocks disintegration through physical processes. 

Some of the candidates were able to give a relevant introduction, explained 

how parent rocks, climate and living organisms influences soil formation but 

did not provide a conclusion, and some of them mixed correct and incorrect 

points with a correct conclusion. Extract 7.1 is a sample of a correct response. 



45 

 



46 

 

Extract 7.1: A sample of a correct response to question 7 
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The candidates who scored from 7 to 11.5 marks showed inadequate 

understanding on the topic of Study of Soils especially on the concept of soil 

formation. The candidates in this category scored these marks because they 

were able to give a relevant introduction about soil formation, but they 

explained unsatisfactorily how parent rock materials, climate and living 

organisms influence soil formation. Some of the candidates mixed correct and 

incorrect factors influencing soil formation. One candidate for example wrote 

about parent rock that; high temperature influences the rate of weathering in 

igneous rocks, permeable rock and impermeable rock.  On climate these 

candidate mentioned the types of climate such as equatorial climate, desert 

and tropical climate and on living organism he/she wrote rich in humus, 

absence of organisms and influences the rate of rock disintegration. 

Moreover, the candidates who scored from 0 to 6.5 marks indicated little or 

lack of knowledge on how the parent rock, climate and living organisms 

influence soil formation. Some of the candidates in this category were able to 

define soil formation but they provided insufficient explanations on the 

influence of parent rocks, climate and living organisms in soil formation. 

Some mixed correct and incorrect points while, others provided incorrect 

descriptions with irrelevant conclusion. One candidate for example explained 

inadequately the factors for soil formation such as soil formation refers to the 

soil to be productive due to influence of many factors like equatorial, tropical, 

temperate and mountain, permeable rock, production of humus and nutrients.  

Another candidate defined soil instead of soil formation and explained types 

of rocks such as igneous, sedimentary and metamorphic rocks. This candidate 

related parent rock with types of rocks and explained types of climate such as 

equatorial, savannah and desert climate as factors for soil formation. This 

candidate seems to be attracted by the word climate that misled the candidate 

to explain the types of climate. On living organisms the candidate wrote 

decomposition of dead organic matter and vegetation growth. Variation of 

their marks was a result of the magnitude of the weaknesses observed in their 

responses. Extract 7.2 is sample of a poor response. 
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Extract 7.2: A sample of an incorrect response to question 7  

Extract 7.2 is a sample of a part of an incorrect answer as the candidate 

explained processes of soil formation such as weathering, leaching, 

podzolisation, mineralization and chelluviation contrary to the demand of the 

question. 
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2.2 113/2 GEOGRAPHY PAPER TWO 

This paper consisted of seven questions which were set from the following 

topics; Population and Development, Environmental Friendly Tourism, 

Manufacturing Industries, Transport and Communication, Sustainable Mining 

and Sustainable Use of Fuel and Power. The candidates were required to 

attempt five questions, whereby question number one was compulsory. Each 

question carried twenty (20) marks. 

2.2.1 Question 1: Population and Development 

The question required the candidates to describe eight strategies that have 

been adopted by Tanzania to mobilize her manpower since independence.  

This question was compulsory and hence it was attempted by all the 

candidates (100%) whereby 36.7 percent scored from 12 to 20 marks, 29.1 

percent scored from 7 to 11.5 marks and 34.2 percent scored from 0 to 6.5 

marks. The general performance of the candidates in this question was good 

since 65.8 percent of them scored 7 marks and above. Figure 7 illustrates the 

performance in this question. 

 

Figure 7: Candidates’ Performance in Question 1 

The candidates who scored from 12 to 20 marks had good knowledge on 

assessing the contribution of population policy and population management. 

They were able to explain the problems of implementing population policy in 
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Tanzania. Moreover, they were aware of the issue of manpower mobilization 

as it is discussed in various mass media like television, radio, magazine, 

newspapers and books. Therefore it was not a new issue to them. 

Most of the candidates who scored higher marks managed to provide a 

relevant introduction of manpower mobilization and describe correctly the 

strategies that Tanzania has adopted to mobilize her man power since 

independence. The correct answers written by the candidates of this category 

were:  

Establishment of small scale industries (SIDO); formation of groups 

so as to be given loans as capital such as SACCOSS, VICOBA, 

PRIDE AFRICA; establishment of small market places for small 

entrepreneurs and machingas like Machinga Complex in Dar es 

Salaam; opening more vocational centres; recruiting people in the 

public sectors; establishment of Ujamaa villages; introduction and 

reinforcement of manpower deployment; establishment of National 

Service Camps; provision of education and giving special training to 

the workers so as to improve the quality of their products.  

These candidates supported their answers with examples. 

In addition to that, some of the candidates in this category provided a relevant 

introduction and described few strategies for manpower mobilization in 

Tanzania. Others managed to give a correct response but failed to provide 

relevant examples. The variation of their scores was a result of the strengths 

and weaknesses of their responses. Extract 7.1 shows an example of a good 

response. 
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Extracts 7.1: A sample of a correct response to question 1 

The candidates who scored from 7 to 11.5 marks had inadequate knowledge 

and skills on the concept of manpower mobilization. Some of them were able 

to give a relevant introduction about manpower mobilization and to provide 



54 

five strategies for manpower mobilization in Tanzania but they failed to 

provide satisfactory descriptions. Other candidates managed to give a relevant 

introduction and analyse only few strategies of manpower mobilization. 

Variation of their scores was attributed to the strengths and weaknesses of 

their responses. 

Most of the candidates who scored from 0 to 6.5 marks provided an irrelevant 

introduction. They also mixed correct and incorrect strategies that have been 

adopted by Tanzania to mobilize her manpower. This shows that these 

candidates lacked adequate knowledge on the subject matter. One candidate 

for example described incorrect strategies such as; improves food nutrition, 

high demand of needs, high need special care, improving growth development, 

government support and improving living standard instead of, establishment 

of small scale industries, establishment of Ujamaa villages and establishment 

of National service camps. Extract 7.2 shows a part of an incorrect answer. 
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Extract 7.2: A sample of a poor response to Question 1 

In extract 7.2 the candidate provided an irrelevant introduction and explained 

the factors that favour development of manufacturing industries instead of 

strategies adopted by Tanzania to mobilize her manpower. 
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2.2.2  Question 2: Population and Development 

The question required the candidates to explain how the utilization of 

resources and improvement of science helps to overcome overpopulation in 

developing countries by giving five points.  

This question was attempted by few candidates (26.7%), however, the general 

performance in the question was good since 67.1 percent of the candidates 

scored 7 marks and above.  Further data analysis shows that, 12.7 percent of 

the candidates who attempted this question scored from 12 to 20 marks, 54.4 

percent scored from 7 to 11.5 marks and 32.9 percent scored from 0 to 6.5 

marks. Figure 8 shows the performance in this question. 

 

Figure 8: Candidates’ Performance in Question 2 

The candidates who scored from 12 to 20 marks focused precisely on the 

question demand. They managed to give a relevant introduction of the concept 

of overpopulation and also linked the utilization of resources through 

application of science so as to overcome overpopulation in developing 

countries. One candidate for example defined correctly overpopulation as: the 

situation which occurs where there are too many people in relation to 

resources and technology locally available to maintain adequate standard of 

living. It is mainly caused by high birth rate, low death rate and immigration. 

This candidate linked correctly the concept of utilization of resources through 

application of science in overcoming the issue of overpopulation such as:  
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Sustainable exploitation and utilization of natural resources such as 

land, improve production which in turn will boost the economy, 

improvement of transport and communication so as to open up areas 

which are under populated in order to influence urban-rural 

migration on overcoming overpopulation in towns, promote family 

planning and provision of basic incentives by the Government to 

meet the demand of the population and providing condition to 

control population increase. 

Some of the candidates who scored higher marks provided an inadequate 

introduction on the concept of overpopulation and explained correct responses 

that help to overcome overpopulation but failed to give a relevant conclusion. 

Others failed to provide a relevant introduction but linked well with the 

utilization of resources through application of science in overcoming 

overpopulation. The variation of their scores was determined by the quality of 

responses. 

The candidates who scored from 7 to 11.5 marks had moderate knowledge on 

the concept of utilization of resources through the application of science so as 

to solve the problem of overpopulation. Most of the candidates were able to 

give correct meaning of over population. They explained only few responses 

on how to overcome overpopulation through the utilization of resources and 

application of science without a relevant conclusion. On the other hand, some 

candidates mixed the responses concerning over population and population 

increase in relation to the utilization of resources. Other candidates provided 

inadequate explanations on their points which affected their performance by 

scoring not more than 11 marks.  

The candidates who scored from 0 to 6.5 marks provided a poor introduction 

with few correct points coupled with unsatisfactory descriptions. Other 

candidates explained incorrect points on how utilization of resources and 

improvement of science helps to overcome over population in developing 

countries like: utilization of resources lead to occurrence of conflict, global 

warming, diseases and unemployment. All these reasons affected their 

performance and led them to score low marks.  

2.2.3 Question 3: Environmental Friendly Tourism 

This question required the candidates to examine four setbacks and four 

prosperities of tourism industries in East Africa.  

Most of the candidates (93.3%) who sat for this examination opted for this 

question and the general performance in the question was good since 92.3 
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percent of the candidates scored 7 marks and above. Further data analysis 

shows that 40.6 percent of the candidates who attempted this question scored 

from 12 to 20 marks, 51.7 percent scored from 7 to 11.5 marks and 7.7 percent 

scored from 0 to 6.5 marks. Figure 9 illustrates the performance.  

 

 

   Figure 9: Candidates’ Performance in Question 3 

The candidates who scored from 12 to 20 marks responded well to the 

question by examining setbacks and prosperities of tourism industry in East 

Africa. They organised and presented well their ideas together with a relevant 

conclusion. Most of the candidates in this category managed to define tourism 

industry as: the activities which involve the movement of people from their 

home to other places of great interest for the purpose of leisure, pleasure or 

studies. They examined its setbacks in East Africa which are: poor transport 

and communication, poor advertisement of honey pots, political instability and 

low capital. These candidates explained four prosperities of tourism industry 

in East Africa such as;  

It has provided employment opportunities, it has brought opportunities for 

recreational centres and enjoyment, it has facilitated the fast development of 

science and technology, it encourages positive attitude towards 

environmental conservation.  

They also provided a relevant conclusion. Extract 8:1 is a sample of a part of 

good response. 
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  Extract 8.1: A sample of a good response to question 3 

Furthermore, the candidates who scored from 7 to 11.5 marks had inadequate 

knowledge on setbacks and prosperities of tourism industry in East Africa. 



64 

Most of them gave a relevant introduction but unsatisfactory explanations on 

prosperities of tourism industry in East Africa. Others provided explanations 

about setbacks of tourism industry only while other candidates provided few 

setbacks and few prosperities of tourism industry in East Africa. Other 

candidates were not able to explain four setbacks of tourism in industry but 

were able to explain prosperities of tourism industry in East Africa and 

providing relevant conclusions. Some candidates outlined the setbacks and 

prosperities without explaining them while, others did not understand the 

meaning of the word setbacks which led them to provide wrong answers hence 

their marks varied. 

There were a few candidates who scored from 0 to 6.5 marks due to lack of 

knowledge. Some candidates mixed prosperities with setbacks 

interchangeably. One candidate for example wrote effects of tourism industry 

in East Africa as: increase of crime, increased environmental pollution, 

influence of culture instead of setbacks of tourism industry in East Africa. This 

led to the variations of scores of the candidates in this category. Extract 8.2 is 

a sample of a poor response. 
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   Extract 8.2: A sample of a poor response to question 3 

In Extract 8.2 the candidate explained the factors favouring development of 

tourism industry and negative impacts of tourism activities instead of 

prospects and setbacks of tourism industry in East Africa. 
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2.2.4 Question 4: Manufacturing Industries 

This question instructed the candidates in eight points, to support the statement 

which reads “For decades since independence, Tanzania has adopted several 

strategies to modernize her manufacturing industry”.   

This was one of the highly opted questions since 79.4 percent of all the 

candidates who were registered for this examination attempted it. The general 

performance in this question was good since 90.7 percent of the candidates 

who answered it scored 7 marks and above. Further data analysis showed that 

32.8 percent scored from 12 to 20 marks, 57.9 percent scored from 7 to 11.5 

marks and 9.3 percent scored from 0 to 6.5 marks. Figure 10 illustrates the 

performance.  

 

 Figure 10: Candidates’ Performance in Question 4 

Most of the candidates who scored from 12 to 20 marks described correctly 

the strategies of modernizing manufacturing industries in Tanzania. Most of 

them supported the statement by giving eight points with relevant 

explanations. Others provided a relevant introduction but with inadequate 

explanations about several strategies of modernizing Tanzanian manufacturing 

industries and also gave an unsatisfactory conclusion. The correct answers 

written by most of the candidates were: improving science and technology 

through training and educating people, improving transport and 

communication, improving market system, improvement of infrastructure, 

improvement of energy supply, and improvement of favourable industrial 
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government policy. The variation of their scores was determined by the quality 

of essays of individual candidates and the total number of points provided in 

relation to the demand of the question. Extract 9:1 represents a sample of a 

correct response. 
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 Extract 9.1: A sample of a correct response to question 4 

Some of the candidates who scored from 7 to 11.5 marks were able to 

understand the demand of the question though they provided few strategies to 

modernize manufacturing industry in Tanzania. Some of them managed to 

write the required number of points but failed to explain them clearly. Others 

mixed correct and incorrect strategies thus their scores could not attain total 

marks of the particular question. One candidate for example provided a 

relevant introduction and also the candidate explained correct points such as 

improving science and technology, formulation of government policy, control 

of population, Tanzania should involve international organisation however, 

the candidate mixed the answers with factors for development of industries 

like availability of capital, labour and market. 

The candidates who scored from 0 to 6.5 marks had little or no knowledge of 

strategies to modernize manufacturing industry in Tanzania. Most of the 

candidates in this category were not well informed on the strategies to 

modernize manufacturing industry in Tanzania. One candidate for example 

provided a relevant introduction but explained only one correct strategy i.e 

application of modern methods of production and incorrect ones such as 

increase production of raw materials, use of good technology, access in 

marketing for the goods, supporting of the local manufacturing of industries 
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and good provision of labour. Another candidate provided an unsatisfactory 

introduction, mixed correct and incorrect points such as: improvement of 

transport and communication, presence of government policy, privatization, 

agricultural activities and expansion of market. Extract 9:2 represents a 

sample of a poor response. 
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  Extract 9.2: A sample of a poor response to question 4 

In extract 9.2 the candidate described factors for development of any 

manufacturing industry instead of strategies that have been adopted by 

Tanzania to modernize her manufacturing industries. 
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2.2.5 Question 5: Transport and Communication 

This question instructed the candidates to explain four economic importance 

of transportation through pipeline and indicate four challenges of construction 

of pipelines in East Africa.  

The question was attempted by 71.6 percent of all candidates who registered 

for this examination of which, 32.9 percent scored from 12 to 20 marks, 48.9 

percent scored from 7 to 11.5 marks and 18.2 percent scored from 0 to 6.5 

marks. The general performance in this question was good since 81.8 percent 

of the candidates scored 7 marks and above. Figure 11 illustrates the 

performance in this question. 

 

 Figure 11: Candidates’ Performance in Question 5 

The candidates who scored from 12 to 20 marks had adequate knowledge of 

pipeline transport. They were able to introduce correctly pipeline transport, 

explain four economic importances of pipelines transport and four challenges 

of construction of pipelines in East Africa and finally they wrote a relevant 

conclusion. One candidate for example defined pipeline transport as the means 

of transport which involves carrying of liquids especially oil and gas from one 

area to another, for example TAZAMA pipeline. Most of the candidates 

explained four economic importance of transportation through pipeline which 

are: stimulate industrial development because of oil supply in the countries, 

stimulate development of trade between the countries sharing the pipeline, 
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they have led to the creation of employment and generation of national 

income.  

Moreover, the candidates indicated four challenges of the construction of 

pipelines in East Africa such as: political instability in East African countries, 

poor cooperation among East African countries, lack of skilled and trained 

labour power, and low technology for construction and maintenance. Extract 

10.1 represents a sample of a good response. 
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   Extract 10.1: A sample of good response to question 5 
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The candidates who scored from 7 to 11.5 marks provided inadequate 

explanations on the importance of pipeline transport in East Africa. Some 

mentioned correct points but explained them wrongly and some managed to 

explain four economic importance of transport through pipelines but failed to 

indicate four challenges for construction of pipelines in East Africa. One 

candidate for example mixed correct and incorrect importance of 

transportation through pipelines such as generates income, prevent pollution, 

it is not risky and linkage. The candidate also explained correct challenges for 

construction of pipelines in East Africa like lack of capital and lack of skilled 

labour. Another candidate provided an irrelevant introduction, explained three 

correct economic importance of transportation through pipelines such as 

development of industries, provide employment and source of national income 

but also wrote irrelevant challenges such as it affects peoples’ settlement.  

Some of the candidates who scored from 0 to 6.5 marks failed to provide a 

relevant introduction but managed to point out a few importance of pipeline 

transport but failed to give any challenge for its construction. Other candidates 

mixed importance and challenges of constructing pipeline transport. One 

candidate for example provided an unsatisfactory introduction of pipeline 

transport as: transport network through pipes and gave an incorrect 

importance of pipeline transport like: building good interrelationship between 

countries, improving living standard of the people. Another candidate 

provided a relevant introduction but explained incorrect importances of 

pipeline transport such as; it helps in transporting goods, it is cheap and needs 

high technology. Extract 10:2 shows a sample of poor performance to question 

5. 
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   Extract 10.2: A sample of a poor response to question 5 

In extract 10.2 the candidate described materials which can be transported 

through pipeline such as gas, oil and geothermal energy instead of importance 

of transportation through pipelines. 
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2.2.6 Question 6: Sustainable Use of Fuel and Power 

This question instructed the candidates to argue for the statement that 

“Although nuclear energy is disastrous; it still is a prosperous source of energy 

in the world”.  

The question was attempted by only 30.2 percent of all candidates who sat for 

this examination. The general performance in this question was good since 

68.6 percent of the candidates who attempted it scored 7 marks and above. 

Further data analysis showed that only 14.3 percent scored from 12 to 20 

marks, 54.3 percent scored from 7 to 11.5 marks and 31.4 percent scored from 

0 to 6.5 marks. Figure 12 illustrates the performance in this question. 

 

  Figure 12: Candidates’ Performance in Question 6 

The candidates who scored from 12 to 20 marks had a clear understanding of 

the concept of nuclear energy. Their essays were well structured with cohesive 

paragraphs. These candidates were able to give a relevant introduction. Their 

ideas were well structured and presented consistently in relation to the 

question. One candidate for example introduced nuclear energy as the non-

renewable source of energy produced as the result of the reaction of the nuclei 

of radioactive metals like Uranium. These candidates presented the reasons 

why nuclear energy is a prosperous source of energy such as: it is clean and 

produces less greenhouse gases, it is efficient in terms of use, it is very 

economical and cheap to harness, it is source of foreign income and it is 
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source of energy to heavy industries. Extract 11:1 represents a sample of a 

good response. 
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  Extract 11.1: A sample of a correct response to question 6 
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The candidates who scored from 7 to 11.5 marks showed insufficient 

knowledge of nuclear energy. They failed to argue competently on why 

nuclear energy is a prosperous source of energy in the world and they 

provided irrelevant conclusions. One candidate for example provided a 

relevant introduction, explained correct points such as less greenhouse gas, it 

is cheap to use and economical, source of foreign exchange and develops 

other industries but mixed them with disadvantages of nuclear energy such as 

it is used in war hence it causes death and environmental pollution. Variations 

of their marks were caused by strengths and weaknesses of their responses. 

Most of the candidates who scored from 0 to 6.5 marks failed to understand 

the demand of the question though they were able to give a proper 

introduction. Some managed to provide few reasons but failed to provide 

conclusion. One candidate for example provided a relevant introduction but 

explained factors for development of industries such as good government 

policy, advanced transport and communication, presence of skilled and 

unskilled labour, availability of adequate capital, good government support, 

availability of advanced science and technology and presence of both internal 

and external market instead of reasons why nuclear energy is a prosperous 

source of energy. Another candidate provided an irrelevant introduction, 

mixed correct and incorrect points such as; it stimulates development of other 

industries, it is clean, growth of nuclear market and enough weapons to be 

used during war. Extract 11.2 is a sample of a poor response in this question. 
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Extract 11.2: A sample of poor response to question 6 

In extract 11.2 the candidate described the factors which led to development of 

nuclear energy instead of advantages of nuclear energy compared to other 

sources of energy. 
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2.2.7 Question 7:  Sustainable Mining 

In this question, the candidates were required to describe five negative impacts 

of mining industry in developing countries and to suggest three ways of 

mitigating them.  

This question was among the highly opted ones as it was attempted for by 98.2 

percent of all candidates who sat for this examination. The general 

performance in this question was good since 96.2 percent of the candidates 

who attempted it scored 7 marks and above. Further data analysis showed that 

59.7 percent scored from 12 to 20 marks, 36.5 percent scored from 7 to 11.5 

marks and only 3.8 percent scored from 0 to 6.5 marks. Figure 13 illustrates 

the performance in this question. 

 

Figure 13: Candidates’ Performance in Question 7 

The candidates who scored from 12 to 20 marks had adequate knowledge on 

the topic of Sustainable Mining. Most of the candidates in this category 

provided a correct introduction, described negative impacts of mining industry 

in developing countries and suggested correct ways of mitigating them. Most 

of them defined Mining as: the extraction of minerals from the ground like 

Gold, Diamond and Tanzanite. Furthermore, they described negative impacts 

of mining industry in developing countries like: deforestation, loss of bio-

diversity, land degradation, spread of diseases and pollution. Moreover, the 

candidate suggested ways of mitigating the negative impact such as: Providing 

mass education on proper mining extraction, economic diversification, 



87 

reduction of population pressure around mining areas and reclaiming the 

area which has been affected by mining like planting trees. Some candidates 

provided a relevant introduction and described few negative impacts of mining 

industries in developing countries. Variations of their marks were caused by 

strengths and weaknesses of their responses. Extract 12.1 shows a sample of a 

good response. 
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             Extract 12.1: A sample of a correct response to question 7 

The candidates who scored from 7 to 11.5 marks showed inadequate mastery 

of the topic of Sustainable Mining especially on the negative impact of mining 

industry in developing countries. Some were able to describe negative impacts 

of mining industry in developing countries but failed to suggest ways of 

mitigating them. One candidate for example provided a relevant introduction, 

explained correct and incorrect negative impacts of mining industry such as 

environmental degradation, eruption of diseases, results to soil erosion, 

mining industries and mining process. The candidate also explained correct 

and incorrect ways of mitigation of negative impacts of mining industry such 

as; the government should enact rules and laws, provision of education and 

formulation of good policies. 

The candidates who scored from 0 to 6.5 marks had little or lacked knowledge 

of the negative impacts of mining industry in developing countries. Some of 

the candidates who scored lower marks managed to give a relevant 

introduction about mining industry but failed to suggest ways of mitigating the 

negative impacts of mining industry in developing countries. One candidate 

for example mixed correct and incorrect impacts of mining industry such as; 
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soil erosion and land degradation, death of people, poor means of transport 

and communication and shortage of government support. This candidate 

mixed relevant and irrelevant ways of mitigating the negative impacts of 

mining industry such as; provision of education, government support and 

provision of enough capital and gave a weak conclusion. Another candidate 

explained factors which hinder development of industries such as; insufficient 

capital, low level of science and technology and insufficient market instead of 

the negative impacts of mining industry. Extract 12.2 shows a sample of such 

a poor response. 
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Extract 12.2: A sample of a poor response to question 7 

In extract 12.2 the candidate explained one negative impact of mining 

industry, and also explained problems facing the mining sector such as poor 

transport and communication, poor technology and poor government support. 



93 

3.0 PERFORMANCE OF CANDIDATES IN EACH TOPIC 

The analysis of candidates’ performance in each topic shows that the candidates 

had good performance in 10 out of 13 topics. These topics are: Water Masses 

(95.8%), Position Behaviour and Structure of the Earth (96.3%), Study of Soil 

(84.8%), Space Dynamics (66.1%) in Geography Paper One. Other topics are: 

Manufacturing Industry (90.7%), Population and Development (66.5%), 

Transport and Communication (81.8%), Susainable Use of fuel and power 

(68.6%), Sustanable Mining (96.2%) and Environmental Friendly Tourism 

(92.3%) in Geography Paper Two.  

The performance of the candidates was average in the topic of Topographical 

Map Interpretation (54.2%) and unsatisfactory in the Field Research Strategies 

(34.5) and Simple Survey and Map Making (19.7%) topics as illustrated in 

Figure 14. In 2019 the topic of Field Research Strategies had good performance 

and Simple Survey and Map Making had weak perfomance. 

 
   Figure 14: Performances of Candidates in each Topic 

 

4.0 CONCLUSION 

The performance of the candidates in Geography subject for Advanced 

Certificate of Secondary Education Examination (ACSEE) 2020 was good in 

most of the topics as it has been observed in the analysis question wise. The 
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analysis shows that the candidates’ good performance was due to the ability of 

the candidates to understand the demands of the questions, candidates’ 

knowledge and skills on the subject matter, candidates’ competence in English 

Language and the candidates’ skills in calculating and drawing. However, 

poor performance have been observed in two topics of Field Research 

Strategies and Simple Survey and Map Making. The observed reasons for that 

poor performance was failure to understand the demand of the questions and 

inadequate knowledge of the subject matter. 

5.0 RECOMMENDATIONS 

Based on the observations made from the Candidates’ Items Response 

Analysis (CIRA) report, candidate’s performance was good in 10 out of 13 

examined topics. One topic had average performance and two topics of Simple 

Survey and Map Making and Field Research Strategies had weak 

performance. In order to improve the performance for prospective candidates 

in these topics the following are recommended:  

(a) Teachers should make sure that more effort is put in teaching the topic 

of Simple Survey and Map Making because performance in the tropic 

is dropping yearly. This topic is to be taught through field practice in 

order for the candidates to understand the entire instruments used and 

the procedures of conducting different types of survey.  

(b) Teaching and learning processes in the classroom should be provided 

with practical activities. It is always expected that students learn better 

if the whole process is supported with concrete materials that give 

them the experience and direct knowledge. For example, in the topic of 

Field Research Strategies. 

(c) There should be an emphasis for students to learn the Geography 

subject more practically especially on the concept of map 

interpretation and survey so as to be able to attempt correctly the 

questions which require measurements. In Paper One question number 

1(c), for example most of the candidates failed to measure forward and 

back bearing and to find the area of the given place in question 1 (a). 
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Appendix 

Comparison of Candidates’ Performance by Topic in 2019 and 2020 
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1.  Position, Behaviour and 

Structure of the Earth 

1 94.9 Good 1 96.3 Good 

2.  Sustainable Mining    1 96.2 Good 

3.  Water Masses 1 85 Good 1 95.8 Good 

4.  Environmental Friendly 

Tourism 

1 92.7 Good 1 92.3 Good 

5.  Manufacturing Industries    1 90.7 Good 

6.  Study of Soils 1 83.9 Good 1 84.8 Good 

7.  Transport and 

Communication 

   1 81.8 Good 

8.  Sustainable Use of Fuel and 

Power 

   1 68.6 Good 

9.  Population and 

Development 

3 80.4 Good 2 66.5 Good 

10.  Space Dynamics 1 94.7 Good 1 66.1 Good 

11.  Topographic Map 

Interpretation 

1 88.5 Good 1 54.2 Average 

12.  Field Research Strategies 1 77.2 Good 1 34.5 Weak  

13.  Simple Survey and Map 

Making 

1 27.3 Weak 1 19.7 Weak 

14.  The Dynamic Earth and Its 

Consequences 

1 95.1 Good    

15.  Agricultural Development 1 95 
Good 

  
 

16.  Photograph Interpretation 1 94.5 Good    

17.  Sustainable Fishing  1 85.3 Good    
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18.  Livestock Keeping and 

Management 

1 80 Good    

19.  Sustainable Use of Forestry 1 26.1 Weak    

 

 




